C:h Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 36x55= 2) 42x26 =

1.

E E 2

E E 3

' : 4

___________ L] 5.

6.
3) 37x48= 4) 44x59 =
5) 46x39 = 6) 47x59 =

16 [83]67[50[33][17] 0]
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Multiplying Using Arrays Name:. Answer Key
Usethearray provided to solve each problem. Answers
1) 36x55= 2) 42x26 =
1,980
50 5 20 6
E i 1,092
30 (30 x 50) (s'g x|5)
1,500 : 5( 1776
____________________ : 40| (40x20) (40 x §)
6 A x| 800 1240
(6 x 50) @xb) .
300 % : 2,596
S R 1,794
[Z% 20) " (% 6)
40 2
2,773
3) 37x48 = 4 44x59 =
40 8 50 9
30 i i
(30 x 40) (30 x 8) 40 '
; (40 x 50) (4o x9)
1,200 : 240 5 000 360
T axa) (7x8 N S
280 56 (4 x 50) f4x9
200 36
5) 46x39 = 6) 47x59 =
30 9 50 9
40 (40 x 50) (2'10 x 9)
40 (40 x 30) 40 9 2,000 1360
1,200 ' 360 :
E [ e S 739
: 350 63
6 (6 x 30) (6x9)
1eU o4
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